
11/200 9 -12/2013

Z/015
SKODA YETI





x1

x1

x1

x1

M12x70 2

M10x40 4

M12 2

Ø30xØ10,5x3 4

13 2

12,2 2
10,2 4



A

B

Pk
t. 1

Pk
t. 1

C

D

Z/
01

5
Ma

rka
od

  2
00

9 -
 >

Sk
od

a 
Ye

ti
96

-1
11

 K
ow

ie
sy

, C
ho

jn
at

a 
23

 A
te

l. 
+4

8 
46

 8
31

 7
3 

31



M10x40 8.8 (pkt 1).

M10x40 8.8 (pkt 1).

M10x40 8.8 (pkt 1).

M10x40 8.8 (pkt 1).

M10x40 8.8 (pkt 1).





M12x70 x2

12,2 x2

13 x2

M12 x2

80

50

M10x40 x4

10,2 x4

Ø30xØ10,5x3 x4




